MATH

MONKS

(Rewriting Equations in Slope-Intercept Form)

I 6x+2y=12 2 3x-2y=-16 3 y-5=Z(x+1)

4 Sy=-4x-5 5 4y+3x=2 6 x+ty=4

7 x+5y-10=2x 8 13x-11y=-12 9 -10x+5y=15

10 gy=x-14 1 )%=3 12 %(-x-4)=%(6y—10)



MATH

MONKS

(Rewriting Equations in Slope-Intercept Form)

Answers

I 6x+2y=12 2 3x-2y=-16 3 y-5=Z(x+1)
y=-3x+6 y=%x+8 y=%x+%7

4 Sy=-4x-5 5 4y+3x=2 6 x+ty=4
y=-%x-l y=-%x+7 y=-x+4

7 x+5y-10=2x 8 13x-11y=-12 9 -10x+5y=15
y=%x+2 y=%x+%—% y=2x+3
7 6 5 1

10 Ly=x-14 1 yszf?’ 12 2(x-4) =5(6y-10)
y=%x—12 y=2x-8 y=-%x-5



